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Instructions: 1) Check the question paper for faitness of, printing.
Hall Supervisor immediately.
2) Use Blue or Black ink fo write and pencil 10 draw diagrams.

uggﬂ-el/Part‘A

&P 0Y:i) Smars s adanbsanbeb afmLwalsea)b.
i) Ne1@ésuuC Batar HAATE WIDD WL sal®d Pasajd Dur@sswim afmLdmwsd

CaibNsBhs &P BLET adamLudmatu b Caids TRHNO.
Note : i) Answer all the questions.

ii) Choose the most suitable answer from the given
corresponding answer.

1. Sy HEmeLpenD Sevofiiaunrluie LWETUGBSSIW FTHEOTLD ....oovveeeens
&) eaupDiLe GLpseT Sb) SlHeLud 8) QHRBED SFHNSET ) FeoTaFwel
Component used in second generation COMPUIETS ............. ’

If there is any lack of fairness, inform the

15x1=15

four alternatives and write the option code with the

a) Vaccumtubes  b) Transistor c) Integrated circuits d) Microprocessor
2. Nemeum s epiwspuie UNICODE QBRIBEETTTBELILLBETENSI?

&) BCD &) ASCII &) EBCDIC m [SCI

Identify the coding system which s integrated with unicode?

a) BCD b) ASCII ¢) EBCDIC d) ISCII
3. UNmHHES ‘

A) CDROM - 9 47GB

B) DVD ' - 2) 50GB

C) Soflenne Bemeoreusid - 3) 700 MB

D) Sien - Gy eur® 2= YN2TB ,

&) 3214 &) 31 4 2 8 412 3 1234

Match the following:

A) CDROM - 1) 47GB

B) DVD - 2) 50GB

C) FlashMemory - 3) 700 MB

D) BluRay Disc 4y 21B
a) 321 4 by 3 142 c)4 123 d)1234

-


https://www.Padasalai.Net/

A

L]

(2]

www.Padasalai.Net

e By o (g aer 4

Bl W (o ey ) iy dvie vimie it

&) W pictres v defa “, W rment and Settings
i o Bl fer i & Rha
R Ulat: e M o o Vv ey
M \f'» ‘lm.'k e
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The shorc key wsed 1o rensme T : :
n) 17 by H4 €) kS d) F6&
Aipimnggs o s, & pipaman ST e
m f)

while (m -~ = §)

m ~m-*|
) 10 ~,) 4 ® s *) 6
How many times the loop gets IIM
m {0

while(m- = %)

m m-*1
a) 10 b) 4 ¢) 5 d) 6
CHt @ o G prayge smog oo
&) break &) polo &) switch ») continue
Which is not a jump statement in C++7
a) break b) goto ¢) switch d) continue
Slerandhy Geun@ieste (- @ s08 ALy SaupeD ag?
&) &) << 8 <~ ") =
Which of the following operator is extraction operator of C =+
a) > b) << ¢) <> d) '=
Bedien SN Es.D BB ¢ oD DEGHE ¢ 51 M@’
&) 1salpha( ) &) isdigit( ) &) main() #) tslower ()
Which function begins the program cxecution
a) 1salphai ) b) 1schgit( ) ¢ main () d) slower ()
intage | |~ 16,90, 12,18, 2} 8ns sty iar canarenaney Dev (' + @ sieuauaney?
&) 5 &) 6 &) 20 ) 10
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3
intage [ ]= 16,90, 12, 18,2} Identify the mber of bytes allocated for the array
C++?

a) 5 b) 6 0) 20 dy 10

1. 6T GleuafluLEDL & HETTEOLD O\BTETOTL HIEYBeDg 4, anaﬁm.@l?

12.

13.

14.

15.

&) wpyfiod &) L DAUTBLNGaE; &) LEORIBEAINEBSD ™) S HEULDNEBEHLD

Which of the following supports the transitjye pature of data”?

a) Inheritance b) Encapsulation ) polymorphism d) Abstraction
intx=10;

intmain()

f
1

int x =100,
count <<:iXi
}
BB o_sren Bsdler Oeuefiui® wgi?
&) 100 &) X @ - X m) 10
intx = 10:
intmain ()
intx=100;
count <<:IX;
- } '
What is the output of the following: _
a) 100 b) x c):iX d) 10
‘@b (PEOD a@@gsb LISO(LPEmD uu_jsﬁTu(BgJ@g,é)' ................. cy;JGDLb SlemLIeoMD?
&i) LHoLD L &y spey Weamw &) ABNESHD /) LDMILIWIEOTEELD
“Write once and use it multiple time’ can be achieved by :
a) modification b) redundancy ¢) composition d) reusability
rﬁ@e‘:.&aﬁm@gb@sh BenemiLl OH(HHSIREOLLIS QsnBUUS! 67517
8i) emsur SefigeunsiD &) 2TLPEd
8) Bewewnis OHTHHTEY m) Guonay
Identify the harassing through online?
a) cyber terrorism b) scam c) cyberstalking d) fraud
C++ 6 Bars@peie) BmHGLD Sififserfer 6T6UOT600 B M

Number of destructors can a class can contain in C++
Aginglly Send me youbjlistrict Questions & %es to email id - Padé%)aléi.net@gmail com
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i) oRemn aod, 24t s 1 10I0R
il Answer any siv guestions.

i) Question No. 24 i compulsor’

pu ,mmmwr &

SIpLILEDL e Nedsefen EouILT Pis

yal€s

. 1114 ' {
Write the truth table of fundamentat &

B imm SlemioUied & _eme ung sy 5 Winemey ?

. ment levels availan . - - .
What arc the security management le Allable in operating system”

ABMLPEmmsET LDHDILD (B EGHTE! GUDMTL 61 g,
Differentiate algorithm and program.

B e01LDTHMLD ETETMITED 616076017

What is meant by type conversion?

peneUL GaMULeT LWIETSET WTemey?

What is the uses of header files?

FprRisefeor Slevofl - euemIWIm).

Define array of strings.

22. aFWnsan) LestiLslGLIY eTeTmTeDd eTebTenT?

23.

24,

Kindly Send me your district Questions & Keys to email id - Padasalai.net@gmail.com

What is function overloading?
void ey euemswiei aBILIGEIeUFIBEDeT 6TLPEIS.
Write the importance of void data type.

class product

{

int code, quantity;
float price ;
)i
Intmain ()
{
product pl, p2;
J
&) Gupsein Byedled pl, p2 dsmen Benareus QgsLE wimgy?
&) Banb@efien srey £_MILL&ST Winenay)
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class product

f
L

int code, quantity;
float price ;
1 .
l .
int main ()
f

t
product p1, p2; -
)

J
a) Whatis the memory size of the objects p, p2?

b) Whatare the data members of the claggy

ueH - & / part - C

@B UY:i) TRUCWEID 1) OF A1hSEHHE AP @Liueh 4 sa 0

ii) afena aa. 336@b sCLAWD SP@L W Eaayp,

Note : i) Answer any six questions.

25.

26.

27.

28.

29.

i) Question No. 33 is compulsory.

Convert the following : (96.5),, = ( ),?

dpsnemLd 61&wed BLosoneutremLd QBT LpenDEsT LML 6T(LPHIS-
&) oo eubsE Weele Geogd &) Arug WHHle

Write about the process management algorithms
a) FIFO b) Shortest Job first

Case ugLiLmiey eTeiTmNeD ET60TEuT?
What is case analysis”?
o_anaf(® noub aeuelui® &g ewun&pisamen (PSS

Write about input and output related operators.

GMUL| 6uemYS :

&) AmLy esnmeeT &) GPueUWINSET
Write a short notes on :

a) Keywords b) Identifiers

30. C++ ed stremp () OFwWDERL UDH UL eueDIs.

Write a note on stremp ( ) function in C++.

www.Padasa(GiNet

6x3=18
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31 t‘})d’"@l EUEMB BIM6T0TL|HEmE0 unn‘il@ﬂbf’iT up ﬂ Q@@m.
. s et mmodeS,
Write about three types of visibility mo
32. C+g eswien usoislgulinsmeT Gﬁ@ Gé%ﬂ)&mm REICCEY
. ading N L4a
List the rules for operator overloading J
. 9 g . it
33. for wLsess asreo® 1 Poe0 10 e ==Ne Gretiones et QBNLIT fnlLened AeuefuiGL C+
Boemed 61(pHIs.

Write a C++ program to sum the numbes from { ¢, 10 using “for” loop.
ue# -*/ Part - p 5%5=25

GPaY: Smarss oI a@1EHaEEHD oS wafssolt.
Note : Answer all the questions.
34. &) &) (—46),, s Syevongsdn ByU MGU'UT-.
sy ompps: (143)g > ()2 & eess: (1101010), +(101101),
M) BL6s: (1101011), —(111010)3 &) wmdpis: (ABC);q — (),
a) a) Findthe?2’scomplement for (—40);,.-

b) Comvert: (145)y = ()2 ¢).Add: (1101010), +(101101),
d) Subtract: (1101011), —(111010), €) Convert: (ABC),, — ( o
- (Sidag) (OR)

&%) elleGLndlerT seoTeuTed Sempuied o_&ien LBeum) Snmisemst) L -efeur.
b) Explain the parts of a window in windows operating systeni.

35. &) C++edo_emen Lﬂanl:pébsma'n cUEn &S0 eflaurflEseyLD.
a) Explain the types of errors in C++.

(Sdws)| (OR)

&) ROM Bevareuss B cuenssamen efiurfl,
b) Explain the types of ROM memory.

36. &) menpey GanHlL LLES DI FaTar? gEsEID QG Hiowpey Gendly LOLBEEmEnt
TBHSIGEM(BL T efleurfl. :

a) Whatisan entry control loop? Explain any one of the entry controlled loop with suitable
example.
(Sdcdag)! (OR)
&%) C++ & if...else opmub switch sapiis Gemt Gus 2_6em WéBw CoununBasT wWeweu?.

b) Whatare the key difference betweenife[sc and switch?
Kindly Send me your district Questions & Keys to email id - Padasalai.net@gmail.com
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31, peoTm) Guems 616001 L HEneD LRI SET up. P Wy,

L. SO T ,n"\()dcs
Write about three types of v isibihity

32. (g eewmnen LeoofiL Bl LD e ﬁ%@\% DEE6N L gu 1601 Beb.

. 4 I P 'n!il](**l
List the rules for operator OVe! loading

, £ g . _ . . A
33. {or wLGGH OEnet® | POV 10 e =TE Grerior s i QUBMLIT Bl L 66D aeueuiGn C

Hyemen 61(LpFHIE.
S o
Write a C++ program to sum the numbers from T 10 using “for” loop.
) ued -*/ Part - D 5x5=25
ofanL wafbsol.

GUUY: SManspl AP TbsaHHEGHD
Note : .4nsm;’r all the questions.
34. &) &) (—46), 61 Syevonpe Bl G-
sy wmpmis: (145)3 = ( )2 &) sau@s: (1101010), +(101101),
m) sles (1101011), ~(111010)z 2 wrpmis : (ABC)jg > (),

a) a) Findthe2’scomplement for (—46)0-

b) Comvert: (145)g = ()2 ¢)-Add: (1101010), +(101101),
d) Subtract: (1101011)2~(111010)2 e) Convert : (ABC)is = (o
- (SHdags)! (OR)

o) eflesGLIAsT FeireTed Sewuied o_giem Le)B6um) snmiaenets) Lpml efeur.
b) Explainthe partsofa window in windows operating system.
35. &) C++ 6 o_ser Hempaerien euenssaen aulssaLD.
a) Explain the types of errors in C++.
| (Sdgs) ! (OR)

&) ROM Benareuss56m auensoener affgurfl
b) Explain the types of ROM memory.

36. O) ey Gendly LLEG aaTDed aare? FEH@ID QB DIVPSY Gendly WL bSene
a@BeEHoN BLe efieurl

a) Whatisanentry control loop? Explain any one of the entry controlled loop with suitable
example.
(Sdagy)! (OR)

&) C++ o if...clse ppIP switch enpilen GemL G 2_aen édw GeumunBGaeT witeneu?.

b) Whatare the key difference between ifelsc and switch?
% \ Kindly Send me your district Questions & Keys to email id - Padasalai.net@gmail.com
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M Explain scope rules of vanable ~
Plam scope rules of vanables in €« wyh example

{ 'Wti‘-\};h | OR)

) dBuy ape> SPHEHD DD Sy, ApeLD SEPHID LPEODBHEDAT GTBHHIHHN e
(3 Il Mt
b) Explam call by value and call by referen,,. yethod with suitable example
38 &) AGpueren OeuefiuSLent e, O Bebas . gren (869D ©_enem Sempmemen merom g
]‘mgﬁm
%o mclude (10stream h)
#include <conio h>
class A
|
public .
intal,a2 :a3.
void get data | |
1
al = 15:
a2=13; a3=13};
class B : publicA()

|
PUBLIC :
voidfunc ()

{
1

intbl :b2:b3;
A ::getdata[]:

bl =al:
b2 = a2;
a.) —a-’g

count <<bl <<\t << b2 << “\t’ << b3;

\
[

void main( )

|
[

clrser()
B der:
der 1 : func ();

getch ():
\

|
Output
15
14
13
Kindly Send me your district Questions & Keys to email id - Padasalai.net@gmail.com
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37. ® C++eo g nml&efedT EuEmTAILIE - www.Fadasalal.Net
. _ e Lomml TeIWeemg, SASPERDEEDET TBHHHSTBLEIT GHleN @S-

a) Explain scope rules of variables in C++ \ith example.

( Dby, )1 (OR)
Sb) LB cpeold SIEDPSBD LHDID Gy cpeoD SPOPEHD PEODBEET TEHEISHNLGLeor
6fleTESS. \
b) Explain call by value and call by reference method with suitable example.
38. &) £Cpwenen QeuefuSLemL B, LGN G6Tn C++ Buelled 2_eten NemipaeneT HEOUTL e,
Program:
% include (iostream.h)
#include <conio.h>
class A
{ a
public ;
intal,a2:a3;
void getdata [ |
!
al =15;
a2=13; a3=13 1},
class B : : publicA()

1
PUBLIC :
voidfunc ()
d
intbl : b2 :b3;
A::getdata[J;
bl =al;
b2 =a2;
a3 =a3; :
count <<bl << ‘\t’ << b2 << “\p’ << b3;
}

void main ()

{

clrser()
B der;
der 1 :func();
getch ();
h
Output :
15
14

13

Kindly Send me your district Questions & Keys to email id - Padasalai.net@gmail.com
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2 Debug the given C+ progral {

Program - .
Y include (iostream.h) o il
#include <conio.h~ )

class A \
{ -

public

Lhe ¢ .
nto £° he following output.

intal, a2 :a3;
void getdata | |

!
1

al = 15;

a2=13; a3=13};
class B :: publicA()
{
PUBLIC :

voidfunc ()

{

intbl :b2:b3;

A ::getdata [ﬁ;
bl =al;
b2 =a2;
a3 = a3;

count <<bl <<\’ <<’b2 << << b3:
} - o

void main ()

{

clrser ()
Bder,

der 1 : func();
getch ();

1

S
Output
15
14
13
(Sjadazs)! (OR)
&) i) aungmer Crned Brensssder AnliueLsanen efleuflsseLb.
il) ewngpet Coné@ BINSGESSET HaELOGET WITEDE?
b) i) Explainthe main features of OOPs,
i) What are the advantages of OOPs?
*okok kK
Kindly Send me your district Questions & Keys to email id - Padasalai.net@gmail.com
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